BIC

5x10°

log[ Relative Probability ]

—-150

Window Half—Width (km/s)

2x108

108

2x10°

5

10

-50

—100

10*

1000

2/(409668 —~5127)=0.963

|.
BIC 455767 78 ABIC 0. OOO AlogP 0.0000

x 389511.03 Ax 0.000 AlogP 0.0000 7

- 1 _ BIC
el - aerer—————— ,
L ABIC —985487 837.8 «( 1 X
i Ax —985487 —325.3 |
5037 5037 5127
A | | ACy ] | ACgF | |
20 40 60 80 100 120
120 iterations
rmQ035 2/(409668 5127) 0.963
T | | T | T | I
i BIC 455767.78 ABIC 0. OOO AlogP 0.0000 |
120 iterations
Fe2 17% 918+190 km/s
rmQ035 BLR 10540 NLR 900 km/s
T | | T | T | | H
. R — - L
: ________ —_— T . T L T T . T .l el e oL T LT T T Ne_“;R
J:"‘n—._mﬁ_.-g—'_'__'_ — —_ ]
T 4 _'_,_._:'_ -~ = — — 8427~ -~ — T T
' ; ACcF ]
| L | L | L |
60 80 100 120

120 iterations

kdh1 11-0ct-2021 13:00



